Puzzle 13969 - Saturday, 28 January, 2017 - Difficulty 3

12 I R 23 | [ 8 16 1
714369 8125
16111’: ‘ : i : ‘1’2’1"’111:11:111:‘ i ’1’5’1:1
6111213 |4|5F7]9:8:
% —— k{é:il ‘1’611”’,11:11,’,’,11:‘ é’,iiii: ‘f:::ff, i
51819172643
éf:,’::,‘ ’7’,::; : i ‘{éii"ii::ﬁ,ﬁiii: | i éff:i:”_l’s’iii:
45|67 |8 |312|1]9
i i i i k{%iii,:iiiii?{é””: ’71’::,::::,: i T
11218954376
‘1’9’:’ ffffff,,ﬁiiiii‘ ’1’1"" : i :1’7’::,: ’1’7’11’ e
313|712 /6]115]8]4
1477 o T (4 1
8|6 (5|42 |7|93|1
%’4’:’”:::,,’,’,11: ’1’3’"’ Z:ZZZ: 1’5’,’:" i’G’I ’’’’’’’’’’’’’’’’’’’’’’’’’’’’
3|7 4|51 [9f8]|6]|2
1’2’1’"1111:1,’,’,1111 T | ‘1’6’1’"11::1,’,’,11:
2|9 |1]8]3]|6]4]|5]|7

Copyright (c) www.dailykillersudoku.com



